



HAL
open science

Positive solutions for a second order multi-point boundary value problem with delay

Abdelkader Lakmeche, Horiya Kouadri Habbaze, Ahmed Lakmeche

► To cite this version:

Abdelkader Lakmeche, Horiya Kouadri Habbaze, Ahmed Lakmeche. Positive solutions for a second order multi-point boundary value problem with delay. 2018. hal-01677056

HAL Id: hal-01677056

<https://hal.science/hal-01677056>

Preprint submitted on 7 Jan 2018

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

1. Introduction

The boundary value problems for delay differential equations arise in a variety of areas of applied mathematics, physics and variational problems of control theory [4]. Recently, many researchers have done a great deal of research works upon boundary value problems of lower order differential equations with delay, and some interesting results were produced, see for example [1], [2] and [6]-[9].

In this work, we study the existence of positive solutions of the following nonlinear multi-point boundary value problem with delay

$$\begin{aligned} u''(t) + \lambda a(t)f(t, u(t - \tau)) &= 0, & t \in [0, 1], \\ u(t) &= \beta u(\eta), & -\tau \leq t \leq 0, \\ u(1) &= \alpha u(\eta) \end{aligned} \quad [1]$$

where $0 < \tau < 1$, $0 < \eta < 1$, $0 < \alpha < \frac{1}{\eta}$ and $0 < \beta < \frac{1 - \alpha\eta}{1 - \eta}$ are constants, and λ is a positive real parameter.

The paper is organized as follows, in section tow we give definitions and preliminaries, and in section there we give our main results.

2. Preliminaries

In this section we give some preliminary results.

Definition 1

$u(t)$ is called a positive solution of (1) if $u \in C[-\tau, 1] \cap C^2(0, 1)$, $u(t) \geq 0$ for $t \in (0, 1)$ and satisfies (1).

Lemma 1

Let $\beta \neq \frac{1 - \alpha\eta}{1 - \eta}$. Then for $y \in C([0, T], \mathbf{R})$, the boundary value problem

$$u''(t) + y(t) = 0, \quad t \in [0, T], \quad [2]$$

$$u(0) = \beta u(\eta), \quad u(1) = \alpha u(\eta) \quad [3]$$

has a unique solution

$$u(t) = \int_0^1 G(t, s)y(s)ds \quad [4]$$

where

$$G(t, s) = g(t, s) + \frac{\beta + (\alpha - \beta)t}{(1 - \alpha\eta) - \beta(1 - \eta)}g(\eta, s) \quad [5]$$

and

$$g(t, s) = \begin{cases} s(1 - t), & 0 \leq s \leq t \leq 1, \\ t(1 - s), & 0 \leq t \leq s \leq 1. \end{cases}$$

PROOF. — From equation (2), we have

$$u(t) = u(0) + u'(0)t - \int_0^t (t-s)y(s)ds := A + Bt - \int_0^t (t-s)y(s)ds$$

with

$$\begin{aligned} u(0) &= A, \\ u(\eta) &= A + B\eta - \int_0^\eta (\eta-s)y(s)ds \end{aligned}$$

and

$$u(1) = A + B - \int_0^1 (1-s)y(s)ds.$$

From $u(0) = \beta u(\eta)$, we have

$$(1-\beta)A - B\beta\eta = -\beta \int_0^\eta (\eta-s)y(s)ds.$$

From $u(1) = \alpha u(\eta)$, we have

$$(1-\alpha)A + B(1-\alpha\eta) = \int_0^1 (1-s)y(s)ds - \alpha \int_0^\eta (\eta-s)y(s)ds.$$

Therefore,

$$A = \frac{\beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds - \frac{\beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds$$

and

$$B = \frac{1-\beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds - \frac{\alpha-\beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds.$$

From which it follows that

$$\begin{aligned} u(t) &= \frac{\beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds - \frac{\beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds \\ &\quad + \frac{(1-\beta)t}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds - \frac{(\alpha-\beta)t}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds \\ &\quad - \int_0^t (t-s)y(s)ds \\ &= - \int_0^t (t-s)y(s)ds + \frac{(\beta-\alpha)t - \beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds \\ &\quad + \frac{(1-\beta)t + \beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds \\ &= \int_0^1 g(t,s)y(s)ds + \frac{\beta + (\alpha-\beta)t}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 g(\eta,s)y(s)ds. \end{aligned}$$

Then, $u(t) = \int_0^1 G(t, s)y(s)ds$. The function u presented above is the unique solution to the problem (2), (3).

Lemma 2

Let $0 < \alpha < \frac{1}{\eta}$ and $0 \leq \beta < \frac{1-\alpha\eta}{1-\eta}$. If $y \in C([0, 1], [0, \infty))$, then the unique solution u of the problem (2), (3) satisfies

$$u(t) \geq 0, \quad t \in [0, 1].$$

PROOF. — We know that if $u''(t) = -y(t) \leq 0$ for $t \in (0, 1)$, $u(0) \geq 0$ and $u(1) \geq 0$, then $u(t) \geq 0$ for $t \in [0, 1]$. We have

$$\begin{aligned} u(0) &= \frac{-\beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds + \frac{\beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds \\ &= \frac{\beta}{(1-\alpha\eta) - \beta(1-\eta)} \left[- \int_0^\eta (\eta-s)y(s)ds + \eta \int_0^\eta (1-s)y(s)ds \right] \\ &\quad + \frac{\beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_\eta^1 (1-s)y(s)ds \\ &= \frac{\beta}{(1-\alpha\eta) - \beta(1-\eta)} \left[\int_0^\eta s(1-\eta)y(s)ds \right] + \frac{\beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_\eta^1 (1-s)y(s)ds \geq 0 \end{aligned}$$

and

$$\begin{aligned} u(1) &= - \int_0^1 (1-s)y(s)ds + \frac{(\beta-\alpha) - \beta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta (\eta-s)y(s)ds \\ &\quad + \frac{(1-\beta) + \beta\eta}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^1 (1-s)y(s)ds \\ &= \frac{\alpha}{(1-\alpha\eta) - \beta(1-\eta)} \left[\eta \int_0^\eta (1-s)y(s)ds + \int_0^\eta (\eta-s)y(s)ds \right] \\ &\geq \frac{\alpha}{(1-\alpha\eta) - \beta(1-\eta)} \left[\eta \int_0^\eta (1-s)y(s)ds + \int_0^\eta (\eta-s)y(s)ds \right] \\ &= \frac{\alpha}{(1-\alpha\eta) - \beta(1-\eta)} \int_0^\eta s(1-\eta)y(s)ds \geq 0. \end{aligned}$$

Then, $u(t) \geq 0 \forall t \in [0, 1]$.

Lemma 3 The function g has the following properties

(i) $0 \leq g(t, s) \leq s(1-s) = g(s, s) \quad \forall t, s \in [0, 1]$.

(ii) Let $\theta \in [0, \frac{1}{2}]$. Then, for $t \in [\theta, 1-\theta]$ and $s \in [0, 1]$, we have

$$g(t, s) \geq \min\{t, 1-t\}g(s, s) \geq \theta g(s, s).$$

PROOF. — For $0 \leq s \leq t \leq 1$, we have

$$0 \leq g(t, s) = s(1 - t) \leq s(1 - s) = g(s, s).$$

And for $0 \leq t \leq s \leq 1$, we have

$$g(t, s) = t(1 - s) \leq s(1 - s) = g(s, s).$$

Thus (i) holds.

If $s = 0$ or $s = 1$, we show that (ii) holds.

For $0 < s \leq t \leq 1$ and $s \neq 1$ we have

$$\frac{g(t, s)}{g(s, s)} = \frac{t(1 - s)}{s(1 - s)} = \frac{t}{s} \geq t \quad \forall t \in [0, 1].$$

For $0 \leq t \leq s < 1$ and $s \neq 0$ we have

$$\frac{g(t, s)}{g(s, s)} = \frac{s(1 - t)}{s(1 - s)} = \frac{(1 - t)}{(1 - s)} \geq (1 - t) \quad \forall t \in [0, 1].$$

Then

$$g(t, s) \geq \min\{t, 1 - t\}g(s, s).$$

Thus, there exist $\theta \in]0, \frac{1}{2}]$ such that

$$\frac{g(t, s)}{g(s, s)} \geq \theta, \quad \forall t \in [\theta, 1 - \theta]$$

Thus (ii) holds.

Lemma 4 *The function G has the following properties*

(i) $G(t, s) \geq 0 \quad \forall t, s \in [0, 1]$,

(ii) $G(t, s) \leq k_1 g(s, s) \quad \forall t, s \in [0, 1]$ and $k_1 = 1 + \frac{\max\{\alpha, \beta\}}{(1 - \alpha\eta) - \beta(1 - \eta)}$,

(iii) $\min_{\theta \leq t \leq 1 - \theta} G(t, s) \geq k_2 g(s, s) \quad \forall t, s \in [0, 1]$ where $\theta \in (0, \frac{1}{2})$ and

$$k_2 = \theta \left[1 + \frac{\beta + \min\{(\alpha - \beta)\theta, (\alpha - \beta)(1 - \theta)\}}{(1 - \alpha\eta) - \beta(1 - \eta)} \right]$$

PROOF. —

(i) From equation (5) and (i) of Lemma 3, we get

$$G(t, s) \geq 0 \quad \forall t, s \in [0, 1].$$

(ii) By equation (5) and (i) of Lemma 3, we have

$$\begin{aligned} G(t, s) &= g(t, s) + \frac{\beta + (\alpha - \beta)t}{(1 - \alpha\eta) - \beta(1 - \eta)}g(\eta, s) \\ &\leq g(s, s) + \frac{\max(\alpha, \beta)}{(1 - \alpha\eta) - \beta(1 - \eta)}g(s, s) = k_1g(s, s). \end{aligned}$$

(iii) From (ii) of Lemma 3, for $t \in [\theta, 1 - \theta]$ we have

$$\begin{aligned} G(t, s) &= g(t, s) + \frac{\beta + (\alpha - \beta)t}{(1 - \alpha\eta) - \beta(1 - \eta)}g(\eta, s) \\ &\geq \theta g(s, s) + \frac{\beta + \min\{(\alpha - \beta)\theta, (\alpha - \beta)(1 - \theta)\}}{(1 - \alpha\eta) - \beta(1 - \eta)}\theta g(s, s) \\ &\geq \theta \left[1 + \frac{\beta + \min\{(\alpha - \beta)\theta, (\alpha - \beta)(1 - \theta)\}}{(1 - \alpha\eta) - \beta(1 - \eta)} \right] g(s, s) = k_2g(s, s). \end{aligned}$$

Lemma 5 *If $y \in C([0, 1])$ and $y \geq 0$, then the unique solution u of the boundary value problem (2), (3) satisfies $\min_{\theta \leq t \leq 1 - \theta} u(t) \geq \gamma \|u\|_1$ where $\|u\|_1 := \sup\{|u(t)|; 0 \leq t \leq 1\}$*

and $\gamma := \frac{k_2}{k_1}$.

PROOF. — For any $t \in [0, 1]$, by Lemma 4 we have

$$u(t) = \int_0^1 G(t, s)y(s)ds \leq k_1 \int_0^1 g(s, s)y(s)ds,$$

thus $\|u\|_1 \leq k_1 \int_0^1 g(s, s)y(s)ds$. Moreover, from (iii) of Lemma 4 for $t \in [\theta, 1 - \theta]$, we have

$$u(t) = \int_0^1 G(t, s)y(s)ds \geq k_2 \int_0^1 g(s, s)y(s)ds \geq \frac{k_2}{k_1} \|u\|_1.$$

Therefore $\min_{\theta \leq t \leq 1 - \theta} u(t) \geq \gamma \|u\|_1$.

By Lemma 1, we can show that the BVP (2), (3) has a solution $u = u(t)$ if and only if u is a solution of the operator equation $u = Tu$, where

$$Tu(t) = \begin{cases} \beta u(\eta), & -\tau \leq t \leq 0, \\ \lambda \int_0^1 G(t, s)a(s)f(s, u(s - \tau))ds, & 0 \leq t \leq 1. \end{cases}$$

We assume the following hypothesis :

(H₁) $f \in C([0, 1] \times [0, \infty); [0, \infty))$,

(H₂) $a \in C([0, 1]; [0, \infty))$ and there exists $t_0 \in (0, 1)$ such that $a(t_0) > 0$,

Let define,

$$f^0 := \limsup_{u \rightarrow 0} \max_{t \in [0, 1]} \frac{f(t, u)}{u}, \quad f^\infty := \limsup_{u \rightarrow \infty} \max_{t \in [0, 1]} \frac{f(t, u)}{u},$$

$$M_1 := \beta \int_0^\tau g(s, s)a(s)ds + \int_\tau^1 g(s, s)a(s)ds \text{ and } M_2 := \int_0^1 g(s, s)a(s)ds.$$

The proof of our main results is based upon an application of the following Leray-Schauder fixed point theorem.

Theorem 2.1 ([5])

Let Ω be a convex subset of a Banach space X , $0 \in \Omega$ and $\Phi : \Omega \rightarrow \Omega$ be a completely continuous operator. Then either

- 1) Φ has at least one fixed point in Ω , or
- 2) the set $\{x \in \Omega / x = \mu\Phi x, 0 < \mu < 1\}$ is unbounded.

3. Main results

Let $X = C[-\tau, 1]$ be a Banach space with norm $\|u\| = \sup\{|u(t)| : -\tau \leq t \leq 1\}$.

Theorem 3.1

Assume (H₁) and (H₂) hold. If $f^0 < \infty$, then the boundary value problem (1) has at least one positive solution.

PROOF. — Choose $\epsilon > 0$ such that $(f^0 + \epsilon)\lambda k_1 M_1 \leq 1$. Since $f^0 < \infty$, then there exists constant $B > 0$, such that $f(s, u) < (f^0 + \epsilon)u$ for $0 < u \leq B$.

Let

$$\Omega = \{u / u \in C([-\tau, 1]), u \geq 0, \|u\| \leq B, \min_{\theta \leq t \leq 1-\theta} u(t) \geq \gamma\|u\|\}.$$

Then Ω is a convex subset of X .

For $u \in \Omega$, by Lemmas 2 and 5, we know that $Tu(t) \geq 0$ and $\min_{\theta \leq t \leq 1-\theta} (Tu)(t) \geq \gamma\|Tu\|$.

Moreover,

$$\begin{aligned} Tu &\leq \lambda k_1 \int_0^1 g(s, s)a(s)f(s, u(s-\tau))ds \\ &\leq \lambda(f^0 + \epsilon)k_1 \int_0^1 g(s, s)a(s)u(s-\tau) \\ &= \lambda(f^0 + \epsilon)k_1 \left(\int_0^\tau g(s, s)a(s)\beta u(\eta)ds + \int_\tau^1 g(s, s)a(s)u(s-\tau)ds \right) \end{aligned}$$

$$\begin{aligned}
&\leq \lambda(f^0 + \epsilon)k_1 \left(\beta \int_0^\tau g(s, s)a(s)ds + \int_\tau^1 g(s, s)a(s)ds \right) \|u\| \\
&\leq \|u\| \leq B.
\end{aligned}$$

Thus, $\|Tu\| \leq B$. Hence, $T\Omega \subset \Omega$.

We shall show that T is completely continuous.

Suppose $u_n \rightarrow u$ ($n \rightarrow \infty$) and $u_n \in \Omega \forall n \in \mathbf{N}$, then there exists $M > 0$ such that $\|u_n\| \leq M$.

Since f is continuous on $[0, 1] \times [0, M]$, it is uniformly continuous.

Therefore, $\forall \epsilon > 0$ there exists $\delta > 0$ such that $|x - y| < \delta$ implies $|f(s, x) - f(s, y)| < \epsilon \forall s \in [0, 1]$, $x, y \in [0, M]$ and there exists N such that $\|u_n - u\| < \delta$ for $n > N$, so $|f(s, u_n(s - \tau)) - f(s, u(s - \tau))| < \epsilon$, for $n > N$ and $s \in [0, 1]$.

This implies

$$\begin{aligned}
|Tu_n(t) - Tu(t)| &\leq \lambda k_1 \int_0^1 g(s, s)a(s)|f(s, u_n(s - \tau)) - f(s, u(s - \tau))|ds \\
&\leq \lambda \epsilon k_1 \int_0^1 g(s, s)a(s)ds.
\end{aligned}$$

Therefore T is continuous.

Let D be any bounded subset of Ω , then there exists $\gamma > 0$ such that $\|u\| \leq \gamma$ for all $u \in D$.

Since f is continuous on $[0, 1] \times [0, \gamma]$ there exists $L > 0$ such that $|f(t, v)| < L \forall (t, v) \in [0, 1] \times [0, \gamma]$.

Consequently, for all $u \in D$ and $t \in [0, 1]$ we have

$$\begin{aligned}
|Tu(t)| &\leq \left| \lambda k_1 \int_0^1 g(s, s)a(s)f(s, u(s - \tau))ds \right| \\
&\leq \lambda k_1 L \int_0^1 g(s, s)a(s)ds.
\end{aligned}$$

Which implies the boundedness of TD .

Since G is continuous on $[0, 1] \times [0, 1]$, it is uniformly continuous.

Then $\forall \epsilon > 0$ there exists $\delta > 0$ such that $|t_1 - t_2| < \delta$ implies that $|G(t_1, s) - G(t_2, s)| < \epsilon \forall s \in [0, 1]$. So, if $u \in D$, $|Tu(t_1) - Tu(t_2)| \leq \lambda \int_0^1 |G(t_1, s) - G(t_2, s)| a(s) f(s, u_n(s - \tau)) ds \leq \lambda L \epsilon \int_0^1 a(s) ds$.

From the arbitrariness of ϵ , we get the equicontinuity of TD .

The operator T is completely continuous by the mean of the Ascoli-Arzelà theorem.

For $u \in \Omega$ and $u = \mu Tu$, $0 < \mu < 1$, we have $u(t) = \mu Tu(t) < Tu(t) < B$, which implies $\|u\| \leq B$. So, $\{x \in \Omega/x = \mu \Phi x, 0 < \mu < 1\}$ is bounded.

By theorem 2.1, we deduce that operator T has at least one fixed point in Ω . Thus the

boundary value problem (1) has at least one positive solution.

REMARK. —

The conditions of Theorem 3.1 are weaker than those of Theorem 3.1 in [3].

Theorem 3.2

Assume $(H_1) - (H_2)$ hold. If $f^\infty < \infty$ is satisfied, then the boundary value problem (1) has at least one positive solution.

PROOF. — Choose $\epsilon > 0$ such that $(f^\infty + \epsilon)\lambda k_1 M_1 \leq \frac{1}{2}$. Since $f^\infty < \infty$, then there exists constant $N > 0$, such that $f(s, u) < (f^\infty + \epsilon)u$ for $u > N$.

Let $B > 0$ such that

$$B \geq N + 1 + 2\lambda k_1 M_2 \max_{\substack{0 \leq s \leq 1 \\ 0 \leq u \leq N}} f(s, u).$$

Let

$$\Omega = \{u/u \in C[-\tau, 1], u \geq 0, \|u\| \leq B, \min_{\theta \leq t \leq 1-\theta} u(t) \geq \gamma \|u\|\}.$$

Then Ω is a convex subset of X .

For $u \in \Omega$, by Lemmas 2 and 5, we have $Tu(t) \geq 0$ and $\min_{\theta \leq t \leq 1-\theta} (Tu)(t) \geq \gamma \|Tu\|$.

Moreover, for $u \in \Omega$, we have

$$\begin{aligned} Tu(t) &= \lambda \int_0^1 G(t, s) a(s) f(s, u(s - \tau)) ds \\ &\leq \lambda k_1 \int_0^1 g(s, s) a(s) f(s, u(s - \tau)) ds \\ &= \lambda k_1 \left(\int_{J_1 = \{s \in [0, 1] / u > N\}} g(s, s) a(s) f(s, u(s - \tau)) ds \right. \\ &\quad \left. + \int_{J_2 = \{s \in [0, 1] / u \leq N\}} g(s, s) a(s) f(s, u(s - \tau)) ds \right) \\ &\leq \lambda k_1 \left(\int_0^1 g(s, s) a(s) (f^\infty + \epsilon) u(s - \tau) ds + \int_0^1 g(s, s) a(s) \max_{\substack{0 \leq s \leq 1 \\ 0 \leq u \leq N}} f(s, u(s - \tau)) ds \right) \\ &\leq \lambda k_1 \left((f^\infty + \epsilon) \left[\beta \int_0^\tau g(s, s) a(s) ds + \int_\tau^1 g(s, s) a(s) ds \right] \|u\| \right. \\ &\quad \left. + \int_0^1 g(s, s) a(s) \max_{\substack{0 \leq s \leq 1 \\ 0 \leq u \leq N}} f(s, u(s - \tau)) ds \right) \end{aligned}$$

$$\leq \lambda(f^\infty + \epsilon)k_1M_1B + \lambda k_1M_2 \max_{\substack{0 \leq s \leq 1 \\ 0 \leq u \leq N}} f(s, u(s - \tau)) \leq \frac{B}{2} + \frac{B}{2} = B.$$

Thus, $\|Tu\| \leq B$. Hence, $T\Omega \subset \Omega$.

We can show that $T : \Omega \rightarrow \Omega$ is completely continuous.

For $u \in \Omega$ and $u = \mu Tu$, $0 < \mu < 1$, we have $u(t) = \mu Tu(t) < Tu(t) < B$, which implies $\|u\| \leq B$. So, $\{x \in \Omega/x = \mu \Phi x, 0 < \mu < 1\}$ is bounded.

By theorem 2.1, we show that the operator T has at least one fixed point in Ω .

Thus, the boundary value problem (1) has at least one positive solution.

REMARK. —

The conditions of Theorem 3.2 are weaker than those of Theorem 3.2 in [3].

4. References

- D. BAI AND Y. XU, « Existence of positive solutions for boundary-value problems of second order delay differential equations », *Appl. Math. Lett.*, vol. 18, 2005, 621-630.
- A. CARVALHO, L. A. LADEIRA AND M. MARTELLI, « Forbidden periods in delay differential equation », *Portugal. Math.*, vol. 57, n° 3, 2000, 259-271
- J. CHEN, J. TARIBOON AND S. KOONPRASERT, « Existence of positive solutions to a second order multi point boundary value problem with delay », *Thai Journal of Mathematics*, 2010, 21-32.
- L. H. ERBE AND Q. K. KONG, « Boundary value problems for singular second-order functional differential equations », *J. Comput. Appl. Math.*, vol. 53, 1994, 377-388.
- A. GRANAS AND J. DUGUNDJI, « Fixed point theory », *Springer-Verlag, New York*, 2003.
- T. JANKOWSKI, « Solvability of three point boundary value problems for second order ordinary differential equations with deviating arguments », *J. Math. Anal. Appl.*, vol. 312, 2005, 620-636.
- D. Q. JIANG, « Multiple positive solutions for boundary value problems of second-order delay differential equations », *Appl. Math. Lett.*, vol. 15, 2002, 575-583.
- J. W. LEE AND D. O'REGAN, « Existence results for differential delay equations-I », *J. Differential Equations*, vol. 102, 1993, 342-359.
- W. B. WANG AND J. H. SHEN, « Positive solutions to a multi-point boundary value problem with delay », *Appl. Math. Comput.*, vol. 188, 2007, 96-102.
- Z. YAO, « New results of positive solutions for second-order nonlinear three-point integral boundary value problems », *J. Nonlinear Sci. Appl.*, vol. 8, 2015, 93-98.